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AP Calculus AB Name
Opener for 4.3 Day 2

I. f(x)=x" Find: 2 g(x)z\/; Find: x%:_l
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a. f(4)= v; b. f’(4)=8 a. g(16)=1—f b. g'(16)=_3;
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What is the relationship between f(x) and g(x)?
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What is the relationship between f'(4) and g'(16)?
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3. h(x)=x" Find: 4. j(x)=x Find: | _~=
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a. h(2)=8 b. K(2)= {Z a j(8)=7 b /(8)=T5
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What is the relationship between h(x) and j(x)? 2 'ﬂf ik
Inverses

What is the relationship between 4'(2) and j'(8)?
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5. The slope at the point (a, f(a)) on the function f(x)is given by /'(a). What is the
corresponding point on f ' (x)and how is the slope at that point related to f”(a)
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Example from AP Exam:

Let f be a differentiable function such that f(3)= 15lf(6) =3 lf' (3)=-8,and f'(6)=-2.
The function g is differentiable and g(x)=f"(x) for all x. What is the value of g'(‘g)?
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E) The value of g'(3) cannot be determined from the information given.
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